=
<

(0 @) (rad)
o(d cot(v))

=
<
N

SO IR 11111 Y R | DY

¥ }L ....... — 2
Ml

2 3
TPlpoT (PCA t%obeamliné[f)

a¢*’++
1

||||"|||J||||||||||
.

=
iN

2 3
TP pT (PCA t%obeamliné[f)

[—=— DQM_VUUUI_ROUUU0U00UI__Global__CMSSW_CKi__RECO

—e— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global_CMSSW_mkFitLowPtQuad__RECO
—— DOM_V0001_R000000001__Global__CMSSW_mKkFitLowPtTriplet_ RECO

- -
= IS Y PR A
5 3]
2 =
-~ - R
2 o>
2 o
2 =
3 ©

4 i

**‘**f*ﬂ -

E++

107 1

2 3
TPlp?T (PCA tjbobeamliné'f)

—
-
o
-
o
o
2
o




	Contents
	Page 1


